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% Numerical Solution of the ODE involved

At e T T T e T T T T L]
options=odeset ('RelTol’',le-6, 'AbsTol',le-8);
[t, 2] =ODE23 ('egnsofmotion', [0 10], [0 0]);

% plot(z(:,1), =z(:,2))

plot(z(:,2});

axis('square');

xlabel('t');

ylabel('v');

title ('Basant Sharma,. HW3, Problem 4 (5.18)');
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% Equations of Motion egnsofmotion.m
function zdot=egnsofmotion (t,z)

x = z(1);
v = z(2);

% assuming we are on earth, take g to be 10

= 10;

c is the measure of drag

c = 2;

xdot= v;

vdot= c*v*2-g;

zdot=[xdot, vdot]';
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